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1. ��-�/ %�$��&�$�%&��� $���'�� �$��$���/ 
�$�$�%%�����,���� ���'�/ 

��. 02 -�%��'�&�&�/, &�%������'�%��� ��%�'������� 
� $����& ���$����'�%��% � ������&�'�%��% 

'%&$��%&� � %�%&��  

1.1. �5?4EFL ?D<<5=5=<O D45>G5= ?D>7D4<<O 
$45>G4O ?D>7D4<<4 ?D>D5EE<>=4?L=>7> <>4G?O (44?55 3 D45>G4O ?D>7D4<<4) 3 
O6?O5FEO G4EFLN ?D>7D4<<O ?>47>F>6>< E?5F<4?<EF>6 ED54=57> 765=4 6 
E>>F65FEF6<< E $��% ?> %�� 15.02.03 �>=F46, F5E=<G5E>>5 >5E?G6<64=<5 
< D5<>=F 7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> >5>DG4>64=<O (?> 
>FD4E?O<)   
1.2. &5?< < ??4=<DG5<O5 D57G?LF4FO >E6>5=<O ?D>D5EE<>=4?L=>7> 
<>4G?O  

� D57G?LF4F5 <7GG5=<O ?D>D5EE<>=4?L=>7> <>4G?O EFG45=F 4>?65= 
>E6><FL >E=>6=>= 6<4 45OF5?L=>EF< «�>=F46, F5E=<G5E>>5 >5E?G6<64=<5 < 
D5<>=F 7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> >5>DG4>64=<O (?> >FD4E?O<)» « < 
E>>F65FEF6GNM<5 5<G >5M<5 >><?5F5=F<< (44?55 - ��) < ?D>D5EE<>=4?L=O5 
>><?5F5=F<< (44?55 - ��): 

1.2.1. �5D5G5=L >5M<E >><?5F5=F<= 
 

�>4 �5M<5 >><?5F5=F<< 
�� 01 �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 

?D<<5=<F5?L=> > D47?<G=O< >>=F5>EF4< 
�� 02 �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < 

<=F5D?D5F4F<< <=D>D<4F<<, < <=D>D<4F<>==O5 F5E=>?>7<< 4?O 
6O?>?=5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 

�� 03 �?4=<D>64FL < D54?<7>6O64FL E>5EF65==>5 ?D>D5EE<>=4?L=>5 < 
?<G=>EF=>5 D476<F<5, ?D54?D<=<<4F5?LE>GN 45OF5?L=>EFL 6 
?D>D5EE<>=4?L=>= ED5D5, <E?>?L7>64FL 7=4=<O ?> D<=4=E>6>= 
7D4<>F=>EF< 6 D47?<G=OE 6<7=5==OE E<FG4F<OE 

�� 04 -DD5>F<6=> 674<<>45=EF6>64FL < D45>F4FL 6 >>??5>F<65 < >><4=45 
�� 05 �EGM5EF6?OFL GEF=GN < ?<EL<5==GN >><<G=<>4F<N =4 

7>EG44DEF65==>< O7O>5 $>EE<=E>>= $545D4F<< E GG5F>< 
>E>55==>EF5= E>F<4?L=>7> < >G?LFGD=>7> >>=F5>EF4 

�� 06 �D>O6?OFL 7D4644=E>>-?4FD<>F<G5E>GN ?>7<F<N, 45<>=EFD<D>64FL 
>E>7=4==>5 ?>6545=<5 =4 >E=>65 FD44<F<>==OE >5M5G5?>65G5E><E 
F5==>EF5=, 6 F>< G<E?5 E GG5F>< 74D<>=<74F<< <56=4F<>=4?L=OE < 
<56D5?<7<>7=OE >F=>L5=<=, ?D<<5=OFL EF4=44DFO 
4=F<>>DDG?F<>==>7> ?>6545=<O 

�� 07 %>45=EF6>64FL E>ED4=5=<N >>DG64NM5= ED54O, 
D5EGDE>E55D565=<N, ?D<<5=OFL 7=4=<O >5 <7<5=5=<< >?<<4F4, 
?D<=F<?O 55D56?<6>7> ?D><76>4EF64, MDD5>F<6=> 45=EF6>64FL 6 
GD576OG4==OE E<FG4F<OE 
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�� 08 �E?>?L7>64FL ED54EF64 D<7<G5E>>= >G?LFGDO 4?O E>ED4=5=<O < 
G>D5??5=<O 74>D>6LO 6 ?D>F5EE5 ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < 
?>445D64=<O =5>5E>4<<>7> GD>6=O D<7<G5E>>= ?>47>F>6?5==>EF< 

�� 09 �>?L7>64FLEO ?D>D5EE<>=4?L=>= 4>>G<5=F4F<5= =4 
7>EG44DEF65==>< < <=>EFD4==>< O7O>4E. 

 
1.2.2. �5D5G5=L ?D>D5EE<>=4?L=OE >><?5F5=F<=  
 

�>4 �D>D5EE<>=4?L=O5 >><?5F5=F<< 

�� 2.1. �D><76>4<FL 4<47=>EF<>G E>EF>O=<O 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 

�� 2.2. �D><76>4<FL F5E=<G5E>>5 >5E?G6<64=<5 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 6 ?D>F5EE5 M>E??G4F4F<< 6 
E>>F65FEF6<< E F5E=<G5E>>= 4>>G<5=F4F<5= 

�� 2.3. �EGM5EF6?OFL M>E??G4F4F<N 7<4D46?<G5E><E < ?=56<4F<G5E><E 
GEFD>=EF6 < E<EF5< 6 E>>F65FEF6<< E F5E=<G5E><<< D57?4<5=F4<< 

�� 2.4. �D><76>4<FL D45>FO ?> >D74=<74F<>==><G >55E?5G5=<N < 
?D>6545=<N ??4=>6OE < =5??4=>6OE D5<>=F>6 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 

�� 2.5. $47D454FO64FL F5E=>?>7<G5E>GN 4>>G<5=F4F<N 4?O ?D>6545=<O 
D45>F ?> F5E=<G5E>><G >5E?G6<64=<N < D5<>=FG 
7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 

             
1.2.3. � D57G?LF4F5 >E6>5=<O ?D>D5EE<>=4?L=>7> <>4G?O EFG45=F 

4>?65=: 
<<5FL 
?D4>F<G5E><=  
>?OF 

- 6O5>D4 4<47=>EF<G5E><E ?4D4<5FD>6;  
- ?>?L7>64=<O 4<47=>EF<G5E><<< EF5=44<<, ?D<5>D4<< 4?O 
4<47=>EF<D>64=<O E>EF>O=<O ?D<6>44  
- >5=4DG6<64FL =5<E?D46=>EF< < GEFD4=OFL <E; 
- >EGM5EF6?5=<O >>=FD>?O >4G5EF64 F5E=<G5E>>7> 
>5E?G6<64=<O;  
- ?D><76>4EF64 D5<>=F4 7<4D46?<G5E><E < ?=56<4F<G5E><E 
E<?>6OE F<?<=4D>6, <>F>D>6, =4E>E>6, G?D46?ONM5= < 
=4?D46?ONM5= 4??4D4FGDO, 6E?><>74F5?L=OE GEFD>=EF6; 
- >5=4DG6<64FL =5<E?D46=>EF< < GEFD4=OFL <E; 
- >EGM5EF6?OFL >>=FD>?O >4G5EF64 F5E=<G5E>>7> 
>5E?G6<64=<O;  
- ?D><76>4EF64 D5<>=F4 7<4D46?<G5E><E < ?=56<4F<G5E><E 
E<?>6OE F<?<=4D>6, <>F>D>6, =4E>E>6, G?D46?ONM5= < 
=4?D46?ONM5= 4??4D4FGDO, 6E?><>74F5?L=OE GEFD>=EF6; 
 - 6O?>?=5=<O D5<>=F=OE G5DF565=;  
- D47D45>F>< F5E=>?>7<G5E><E ?D>F5EE>6 <77>F>6?5=<O < 
6>EEF4=>6?5=<O 45F4?5=; 
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 - E>EF46?5=<O 45D5>F=>= 654><>EF< =4 D5<>=F 
- >EGM5EF6?5=<O >F5=>< E>EF>O=<O ?>E?5 ?D>6545=<O ?GE>4 < 
=4?44>< 7<4D46?<G5E><E < ?=56<4F<G5E><E ?D<6>4>6; 
- ?D<<5=5=<O ?D<5<>6 < E?>E>5>6 >E=>6=OE 6<4>6 
E?5E4D=OE D45>F; 
 - ?>45>D4 =5>5E>4<<OE D56GM<E < >>=FD>?L=>-
<7<5D<F5?L=OE <=EFDG<5=F>6, ?D<E?>E>5?5=<= 4?O 
<5E4=<G5E>>= >5D45>F><, 4 F4>65 <77>F>6?5=<O 
?D<E?>E>5?5=<= ED54=5= E?>6=>EF< 4?O D5<>=F4 < E5>D><.  

G<5FL 
 

- 4=4?<7<D>64FL D45>FG ?D<6>44, =4E>4<FL E6O7L <564G 
=5<E?D46=>EFLN < M?5<5=F4<< 7<4D>?D<6>44; 
- ?D><76>4<FL D475>D>G < E5>D>G 7<4D46?<G5E><E 
<?=56<4F<G5E><E GEFD>=EF6 < E<EF5<;  
- ?D>6>4<FL F5E=<G5E>>5 >5E?G6<64=<5 
- >EGM5EF6?OFL >>=FD>?L >4G5EF64 F5E=<G5E>>7> 
>5E?G6<64=<O; 
- >D74=<7>64FL D45>G55 <5EF> < >55E?5G<64FL 557>?4E=O5 
GE?>6<O ?D< 6O?>?=5=<< E?5E4D=OE D45>F; 
- >?D545?OFL ?>DO4>> E5>D>< <5E4=<7<>6; 
- D475<D4FLEO 6 F5E=<G5E>>= < F5E=>?>7<G5E>>= 
4>>G<5=F4F<<, ?>?L7>64FLEO GG55=>= < E?D46>G=>= 
?<F5D4FGD>= 
 

7=4FL - 6<4O F5E=<G5E>>7> E>EF>O=<O ?D<6>44;  
- >>=EFDG>F<< < ?D<=F<? 45=EF6<O ?D<5>D>6 < ED54EF6 
>>=FD>?O F5E=<G5E>>7> E>EF>O=<O ?D<6>44 < GEFD>=EF6;  
- >?4EE<D<>4F<< >F>47>6 >5>DG4>64=<O; 
- ?>=OF<O, F5?< < 6<4O F5E=<G5E>>7> >5E?G6<64=<O;  
- >?5D4F<< F5E=<G5E>>7> >5E?G6<64=<O;  
- ?4D4<5FDO, ?>4?564M<5 ?D>65D>5 ?D< F5E=<G5E>>< 
>5E?G6<64=<<;   
- FD55>64=<O > F5E=<G5E>><G >5E?G6<64=<N =4E>E>6, 
7<4D>F<?<=4D>6, 7<4D><>F>D>6, 7<4D>4??4D4FGDO, 
6E?><>74F5?L=>= 4??4D4FGDO < ?D<6>44 6 F5?><;  
- ?>DO4>> ?><E>4 =5<E?D46=>EF5=; 
- >E>55==>EF< M>E??G4F4F<< ?D<6>4>6, D45>F4NM<E ?D< 
6OE>><E < =<7><E F5<?5D4FGD4E, ?>6OL5==>= 74?O?5==>EF<;  
- ?>=OF<O =4456=>EF< ?D<6>44, ?>>474F5?< =4456=>EF<; 
- F5E=>?>7<G5E>GN ?>E?54>64F5?L=>EF< D475>D><, D5<>=F4 < 
E5>D>< G7?>6 < <5E4=<7<>6; 
- ?D46<? F5E=<>< 557>?4E=>EF< ?D< ?D>6545=<< D5<>=F=OE 
D45>F;  
- 6<4O <7=>E4, 45D5>FO 45F4?5= 7<4D46?<G5E><E < 
?=56<4F<G5E><E <4L<=, 4??4D4FGDO; 
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- E?>E>5O < <5F>4O GEFD4=5=<O 45D5>F>6 < 6>EEF4=>6?5=<O 
<7=>L5==OE ?>65DE=>EF5= < E>54<=5=<=;  
- ?D46<?4 6O?>?=5=<O D5<>=F=OE G5DF565=;  
- F<?>6O5 F5E=>?>7<G5E><5 ?D>F5EEO 6>EEF4=>6?5=<O 
45F4?5=;  
- ?>E?54>64F5?L=>EFL ?GE>>-=4?44>G=OE D45>F;  
- 6<4O, F5?< < E?>E>5O ?D>6545=<O <E?OF4=<=;  
-EE5<O < ?>DO4>> ?D>6545=<O <E?OF4=<= 7<4D>=4E>E>6; 
7<4D>F<?<=4D>6, 7<4D><>F>D>6, 7<4D>4??4D4FGDO; 
- >E=>6=O5 6<4O E?5E4D=OE D45>F; 
- <5F>4O ?D4>F<G5E>>= >5D45>F>< <4F5D<4?>6; 
- FD55>64=<O F5E=<>< 557>?4E=>EF< ?D< 6O?>?=5=<< 
E?5E4D=OE D45>F; 
- =47=4G5=<O < ?D46<?4 ?D<<5=5=<O E?5E4D=>7> < 
>>=FD>?L=>-<7<5D<F5?L=OE <=EFDG<5=F>6;  
- =4<5>?55 D4E?D>EFD4=5==O5 ?D<E?>E>5?5=<O < 
<=EFDG<5=FO;  

 
1.3. �>?<G5EF6> G4E>6 =4 >E6>5=<5 ?D>7D4<<O ?D>D5EE<>=4?L=>7> 
<>4G?O: 
�E57> 3  768 G4E>6, 6 F>< G<E?5: 
6 F>< G<E?5 6 D>D<5 ?D4>F<G5E>>= ?>47>F>6>< 3 554 G4E4. 
�7 =<E =4 >E6>5=<5 ��� 3 447 G4E4: 
?D4>F<><, 6 F>< G<E?5 ?D><76>4EF65==4O 3 252 G4E>6; 
E4<>EF>OF5?L=>= D45>FO >5GG4NM57>EO 3 33 G4E>6; 
�D><56GF>G=4O 4FF5EF4F<O 3 24 G4E4. 



8 
 

2. %&$'�&'$� � %���$����� �$�$�%%�����,���� ���'�/ 
2.1. &5<4F<G5E><= ??4= ?D>D5EE<>=4?L=>7> <>4G?O 

�>4O >><?5F5=F<= 

�4<<5=>64=<O 
D4745?>6 

?D>D5EE<>=4?L=>7> 
<>4G?O 

%G<<4D=O= 
>5N5< 

=47DG7>< 

�5N5< ?D>D5EE<>=4?L=>7> <>4G?O, 4>. G4E. 
$45>F4 >5GG4NM<EEO 6> 674<<>45=EF6<< E 

?D5?>4464F5?5< 

->74<5= 
?> ��� 

< 
<>4G?N 

%4<>EF>O-
F5?L=4O 
D45>F4 / 

>>=EG?LF4F<
< 

�E57> 
G4E>6 

6 
F.

 G
. 6

 D
>D

<
5 

?D
4>

F<
G5

E>
>=

 
?>

47
>F

>6
><

 �5GG5=<5 ?> ��� 
�D4>F<>< 

�E57> 
 

� F>< G<E?5 

�
45

>D
4F

>D
=O

E 
< 

?D
4>

F<
G5

E>
<E

 
74

=O
F<

= �GDE>6O
E D45>F 

(?D>5>F>
6) 

'G55=4
O 

�D><76>4EF65
=-=4O 

1 2 3 4 5 6 7 8 9 10 11 
�� 2.1,�� 2.2, 
�� 2.3,�� 2.4, 
�� 2.5. 
 

���.02.01 
�<47=>EF<>4, 
M>E??G4F4F<O, 
F5E=>?>7<G5E>>5 
>5E?G6<64=<5 < 
D5<>=F 
7<4D46?<G5E><E < 
?=56<4F<G5E><E 
GEFD>=EF6 < E<EF5<. 

504 
 
 
 

290 

447 
 
 
 

238 
 
 
 

40  - 12 33/12 

�� 2.1,�� 2.2, 
�� 2.3,�� 2.4, 
�� 2.5. 

'�.02.01'G55=4O 
?D4>F<>4 

108 
 

108   - 108   - 

�� 2.1,�� 2.2, 
�� 2.3,�� 2.4, 
�� 2.5. 

��.02.01 
�D><76>4EF65==4O 
?D4>F<>4  

144 
 

144 
 

 144 - - 

 �D><56GF>G=4O 
4FF5EF4F<O 
�64?<D<>4F<>==O= 
M>74<5= ?> <>4G?N 

12 12 

 

 - 12 - 

 �E57>: 768 554 447 238 40 108 144 24 33/12 
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3.2. %>45D64=<5 >5GG5=<O ?> ?D>D5EE<>=4?L=><G <>4G?N ��. 02  

->E??G4F4F<O, F5E=>?>7<G5E>>5 >5E?G6<64=<5 < D5<>=F 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 
 

�4<<5=>64=<5 D4745?>6 < 
F5< ?D>D5EE<>=4?L=>7> 

<>4G?O (��), 
<564<EF<??<=4D=OE 

>GDE>6 (���) 

%>45D64=<5 GG55=>7> <4F5D<4?4, 
?45>D4F>D=O5 D45>FO < ?D4>F<G5E><5 74=OF<O, E4<>EF>OF5?L=4O GG55=4O D45>F4 

>5GG4NM<EEO, >GDE>64O D45>F4 (?D>5>F)  

�5N5<, 4>. G / 6 
F>< G<E?5 6 

D>D<5 
?D4>F<G5E>>= 

?>47>F>6><, 4>. 
G 

1 2 3 
���.02.01 �<47=>EF<>4, M>E??G4F4F<O, F5E=>?>7<G5E>>5 >5E?G6<64=<5 < D5<>=F 7<4D46?<G5E><E < ?=56<4F<G5E><E 
GEFD>=EF6 < E<EF5<. 

447/278 

&5<4 2.1. %F5=4>6>5 
4<47=>EF<G5E>>5 
>5>DG4>64=<5 
7<4D>?D<6>4>6 < 
7<4D>E<EF5< 
�� 2.1,�� 2.2, 
�� 2.3,�� 2.4, 
�� 2.5. 
�� 01-09 
 

%>45D64=<5 GG55=>7> <4F5D<4?4 20 
1.�5M4O E4D4>F5D<EF<>4 < E>45D64=<5 >>=FD>?L-4<47=>EF<G5E><E D45>F. �E=>6=O5 
4<47=>EF<G5E><5 ?4D4<5FDO 7<4D46?<G5E><E < ?=56<4F<G5E><E E<EF5< < GEFD>=EF6 
2.�?4EE<D<>4F<O 4<47=>EF<G5E>>7> >5>DG4>64=<O: 
- ?> ?D<=F<?G 45=EF6<O (<5F>4G >>=FD>?O); 
- ?> F5E=>?>7<G5E>><G D4E?>?>65=<N; 
- ?> F<?G ?D<6>44 D45>G<E >D74=>6; 
- ?> EF5?5=< E?5F<4?<74F<<: 
- ?> ?>46<6=>EF<;  
- ?> GD>6=N 46F><4F<74F<< 
3.%F5=4>6>5 4<47=>EF<G5E>>5 >5>DG4>64=<5, >?4EE<D<>4F<O =47=4G5=<5 
4.�>=FD>?<DG5<O5 ?4D4<5FDO, 746<E<<>EFL ?5D5?444 446?5=<O >F D4EE>4>6 6<4>>EF<, 
746<E<<>EFL 446?5=<O >F D4EE>44 D45>G5= 6<4>>EF< 
5.�46?5=<5 6 ?5D5E>4=>< D56<<5, 4<4?47>= 446?5=<O 6 ?<=<< G?D46?5=<O, ??46=>EFL 
D57G?<D>64=<O 6 4<4?47>=5 =4EFD>=><, D4EE>4 D45>G5= 6<4>>EF< G5D57 6E?><>74F5?L=O= 
>?4?4=, 746<E<<>EFL D4EE>44 >F D47=>EF< 446?5=<= =4 6E>45 < 6OE>45, 4>?GEF<<>5 
>F>?>=5=<5 D4EE>44 D45>G5= 6<4>>EF< 

 

�D4>F<G5E><5 74=OF<O 24 
1.�7=4>><?5=<5 E =47=4G5=<5< GEFD>=EF64 4<47=>EF<G5E>>7> >5>DG4>64=<O. 
2.�O?>?=5=<5 >E=>6=OE ?D<5<>6 ?> M>E??G4F4F<< 4<47=>EF<G5E><E EF5=4>6 < F5E=<G5E><E 
ED54EF6 <7<5D5=<=. 
3.�7=4>><?5=<5 E <5F>44<< ?><E>4 =5<E?D46=>EF5=, 4=4?<7 D47?<G=OE D>D< 
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F5E=>?>7<G5E>>7> ?D>F5EE4, (ED>=>?>7<G5E>4O, 65>F>D=4O, 7D4D<G5E>4O < F45?<G=4O D>D<4). 
4.$47D45>F>4 F5E=>?>7<G5E>>= >4DFO ?>E?54>64F5?L=>EF< 4<47=>EF<D>64=<O 7<4D46?<G5E>>7> 
?D<6>44 7<4D><>F>D4, D45>F4 E> EF5=4>6O< >5>DG4>64=<5< ?> >?D545?5=<N 65?<G<= 
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�?D545?5=<5 E?>E>54 >G<EF>< 
5.%?>E>5O < <5F>4O >?D545?5=<O =5<E?D46=>EF<, 7<4D>>?4?4=4E, 4D>EE5?<DGNM<E 
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3. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 7<4D46?<G5E>>7> ?D<6>44 >>6L>6>7> ?>7DG7G<>4  
4. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 7<4D>?D<6>44 ?>4L5<4 >G7>64 �����. 
5.  &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 7<4D>?D<6>44 4>?556=>7> EF4=>4 
6. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 7<4D>?D<6>44  <5E4=<7<4 ?>44G< 7>?>6>< 47D574F=>7> EF4=>4 
7. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F <E?>?=<F5?L=>= G4EF< 7<4D46?<G5E>>7> ?D5EE4 
8.  &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 7<4D>?D<6>44 >DG7?>L?<D>64?L=>7> EF4=>4 
9. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 7<4D46?<G5E>>= E<EF5<O 6<?>G=>7>  
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�D>D45>F>4 >>=E?5>F>6, GG55=>= < F5E=<G5E>>= ?<F5D4FGDO, E?D46>G=>7> < <4F5D<4?>6 ?5D<>4<G5E><E <744=<= (?> 
6>?D>E4< > ?4D47D4D4<, 7?464< GG55=OE ?>E>5<=, E>EF46?5==O< ?D5?>4464F5?5<). 
�>47>F>6>4 > ?D4>F<G5E><< D45>F4< E <E?>?L7>64=<5< <5F>4<G5E><E D5>><5=44F<= ?D5?>4464F5?O, >D>D<?5=<5 
?D4>F<G5E><E D45>F, >FG5F>6 ?>47>F>6>< > <E 74M<F5, 6O?>?=5=<5 D5D5D4F>6, ??4=->>=E?5>F>6, 4>>?44>6, <=D>D<4F<<, 
F6>DG5E>4O D45>F4 ?> >F45?L=O< F5<4< 
%4<>EF>OF5?L=4O 4=4?<F<G5E>4O D45>F4 ?> E5>DG <4F5D<4?4 4?O =4?<E4=<O >GDE>6>7> ?D>5>F4 
'G55=4O ?D4>F<>4 
�<4O D45>F 
 �4 6D5<O GG55=>= ?D4>F<>< EFG45=F 4>?65= ?D<>5D5EF< =46O>< G<5=<5 < >?OF, D45>F4FL E <=EFDG<5=F><, 
?D<E?>E>5?5=<O<<, >7=4>><<FLEO E <5F>44<< < E?>E>5>< 6>EEF4=>6?5=<O 45F4?5=. 
- �5F>4O < E<EF5<4 >D74=<74F<< D5<>=F=OE D45>F, E?>E>5O D5<>=F4 7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> ?D<6>44 < 
6>EEF4=>6?5=<O 45D5>F=OE 45F4?5=. 
- �>=OF<5 > F5E=>?>7<G5E>>< ?D>F5EE5. &5E=>?>7<O  E?5E4D=>= >5D45>F>< 45F4?5=. �>DO4>> D47D45>F>< F5E=>?>7<G5E>>7> 
?D>F5EE4 E?5E4D=>= >5D45>F><. 
- �7=4>><?5=<5 E D45>G5= < F5E=<G5E>>= 4>>G<5=F4F<5= ?> D5<>=FG 7<4D46?<G5E><E < ?=56<4F<G5E><E E<EF5< < GEFD>=EF6.  
- �?D545?5=<5 E<EF5< >D74=<74F<< D5<>=F=OE D45>F, >?D545?5=<5 >5N5<4 D45>F, ?>47>F>6>< = ??4=<D>64=<5 D5<>=F=OE 
D45>F. 
- �E=>6=O5 F<?O < E>EF46 D5<>=F=OE <4EF5DE><E, D4EEF4=>6>4 >5>DG4>64=<O 6 E>>F65FEF6<< E F5E=<>>= 557>?4E=>EF<. 
- $45>F4 E <7<5D<F5?L=O<< <=EFDG<5=F4<<, ?<=5=>>=, LF4=75=F<D>G?5<, G7>?L=<>><, E>>5>= < L45?>=><. 
- $45>F4 E <=EFDG<5=F><, >5>DG4>64=<5<, ?D<E?>E>5?5=<O<< < E?5E4D=O<< <=EFDG<5=F4<<. 
- �7=4>><?5=<5 E >E=>6=O<< >?5D4F<O<<  F5E=>?>7<G5E>>7> ?D>F5EE4: D47<5F>>=, ?D46>>=, 7<5>>=, DG5>>=, D57>>=, 
>?<?<64=<5<, E65D?5=<5<, D4765DFO64=<5<, =4D574=<5< D57L5O, ?D>EFD4=EF65==>= D47<5F>>=, L45D5=<5<, ?D<F<D>>= < 
4>6>4>>=. 
- �D74=<74F<O < =47=4G5=<5  D5<>=F4 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < E<EF5<. 
- �O?>?=5=<5 F5E=>?>7<G5E><E >?5D4F<= ?>E?54>64F5?L=>EF< D47D45>F><, <4D><D>6>< < E>DF<D>6>< 45F4?5=. 
- �?D545?5=<5 ?D<7>4=>EF< 45F4?5= <?< <E F5E=<G5E>4O 4>D45>F>4 < <E?D46?5=<5 45D5>F>6. 
- %?>E>5O < <5F>4O GEFD4=5=<O 45D5>F>6 < 6>EEF4=>6?5=<5 <7=>L5==OE ?>65DE=>EF5= < E>54<=5=<=. 
- �D<>5D5F5=<5 =46O>>6, G<5=<= < >?OF4 GF5=<O G5DF565= < F5E=>?>7<G5E>>= 4>>G<5=F4F<<. 
- �7=4>><?5=<5 E F<?>6O<< F5E=>?>7<G5E><<< ?D>F5EE4<< 6>EEF4=>6?5=<O 45F4?5= < G7?>6 7<4D46?<G5E><E < 
?=56<4F<G5E><E E<EF5< < GEFD>=EF6: 
- 6>EEF4=>6?5=<5 45F4?5= <5E4=<G5E>>= >5D45>F>>=; 
- D5<>=F E?>E>5>< 4>?>?=<F5?L=OE 45F4?5=; 
- D5<>=F 45F4?5= E64D>>= < =4??46>>=; 
- D5<>=F 45F4?5= <5F>4>< <5F4??<74F<<; 
- D5<>=F 45F4?5= M?5>FD>?<F<G5E><< ?>>DOF<5<; 
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- 6>EEF4=>6?5=<5 45F4?5= <5F>4>< ?4=><; 
- 6>EEF4=>6?5=<5 45F4?5= ?>?<<5D4<<; 
- 6>EEF4=>6?5=<5 45F4?5= ?5D574?<6>>= 4=F<DD<>F<>==OE E??46>6. 
 &5E=>?>7<O D5<>=F4 F<?>6OE 45F4?5= < G7?>6 7<4D46?<G5E><E < ?=56<4F<G5E><E E<EF5< < GEFD>=EF6: 
- D5<>=F >E5= < 64?>6; 
- D5<>=F 7G5G4FOE E>54<=5=<=; 
- D5<>=F LF>>>6; 
- D5<>=F F<?<=4D>6 < ?>DL=56OE =4E>E>6: 
- D5<>=F 5>?F>6OE, L?<F56OE E>54<=5=<=; 
- D5<>=F G??>F=5=<=; 
- D5<>=F ?D54>ED4=<F5?L=OE >?4?4=>6: 
- D5<>=F >>=FD>?L=>-<7<5D<F5?L=>= 4??4D4FGDO; 
- 6O?>?=5=<5 D5<>=F=OE G5DF565= < F5E=>?>7<G5E><E >4DF ?> GEFD4=5=<N 45D5>F>6 45F4?5=; 
- >D>D<?5=<5 4>>G<5=F4F<< ?> D5<>=FG < F5E=<G5E>>= ?>E?5D5<>=F=>= M>E??G4F4F<< 7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> 
>5>DG4>64=<O; 
- <5F>4O < E?>E>5O >?D545?5=<O 74D4=F<==>7> ED>>4 M>E??G4F4F<< >5>DG4>64=<O, ?>E?5 D5<>=F4. 

�D><76>4EF65==4O ?D4>F<>4 (?> ?D>D<?N E?5F<4?L=>EF<) 
�<4O D45>F: 
-F5E=<>4 557>?4E=>EF< < >ED4=4 FDG44 ?D< F5E=<G5E>>< >5E?G6<64=<< 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6, 
E<EF5< < ?D<6>4>6 
- GG4EF<5 6 ?D>6545=<< D57?4<5=F=OE D45>F ?> F5E=<G5E>><G >5E?G6<64=<N GEF4=>6?5==OE 746>4>< <77>F>6<F5?5< 
>EGM5EF6?5=<5 >>=FD>?O >4G5EF64 F5E=<G5E>>7> >5E?G6<64=<O; 
- >D74=<74F<O < 6O?>?=5=<5 D45>F ?> F5E=<G5E>><G >5E?G6<64=<N 7<4D><4L<=, D57G?<DGNM5= < =4?D46?ONM5= 
4??4D4FGDO 
- >D74=<74F<O < 6O?>?=5=<5 D45>F ?> F5E=<G5E>><G >5E?G6<64=<N D<?LFD>6, 7<4D>5<>>EF5=  FDG5>?D>6>4=OE G7?>6, 
G??>F=5=<= 
- >D74=<74F<O < 6O?>?=5=<5 D45>F ?> F5E=<G5E>><G >5E?G6<64=<N ?=56<>?D<6>4>6; 
- 6O?>?=5=<5 D45>F ?> ?D<5<>5 >5>DG4>64=<O 6 D5<>=F, >D>D<?5=<5 ?D<5<>-E44F>G=>7> 4>F4, E>EF46?5=<5 45D5>F=>= 
654><>EF< =4 D5<>=F. 
- >D74=<74F<O < 6O?>?=5=<5 D475>D><, D5<>=F4 < E5>D>< G7?>6 < <5E4=<7<>6; 
- D47D45>F>4, 6O?>?=5=<5 F<?>6OE F5E=>?>7<G5E><E ?D>F5EE>6 <77>F>6?5=<O < 6>EEF4=>6?5=<O 45F4?5= 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < E<EF5<, 6O?>?=5=<5 D5<>=F=OE G5DF565=; 
- >D74=<74F<O < ?D>6545=<5 E5>D>G=OE D45>F ?>46<6=OE < =5?>46<6=OE E>54<=5=<=; 
- <E?OF4=<5 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6, E<EF5< < ?D<6>4>6 ?>E?5 D5<>=F4; 
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- >D74=<74F<O < 6O?>?=5=<5 4<47=>EF<G5E>>7> >>=FD>?O, >5=4DG65=<5 < GEFD4=5=<5 =5<E?D46=>EF< 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6;  
- ?D>6545=<5 4=4?<74 D45>FO ?D<6>44, =4E>645=<5 E6O7< <564G =5<E?D46=>EFLN < M?5<5=F4<< ?D<6>44; 
- 6O5>D < ?D<<5=5=<5 4<47=>EF<G5E><E ?4D4<5FD>6 ?D< 4<47=>EF<D>64=<< 7<4D46?<G5E><E < ?=56<4F<G5E><E E<EF5<; 
- >D74=<74F<O < 6O?>?=5=<5 D45>F ?> ?D>65D>5 F5E=<G5E>>= F>G=>EF< 4<47=>EF<G5E>>= 4??4D4FGDO, >>=FD>?L=>-
<7<5D<F5?L=OE ?D<5>D>6 < >5>DG4>64=<O; 
-?D>6545=<5 4<47=>EF<>< >5>DG4>64=<O =4  4<47=>EF<G5E>>< EF5=45, E <E?>?L7>64=<5< ?D<5>D>6 4?O 4<47=>EF<>< 
E>EF>O=<O ?D<6>44; 
- >D74=<74F<O < 6O?>?=5=<5 D45>F ?> =4EFD>=>5, M>E??G4F4F<< < F5E=<G5E>>7> >5E?G6<64=<O 4<47=>EF<G5E>>7> 
>5>DG4>64=<O; 
- 6O?>?=5=<5 ?D46<? F5E=<>< 557>?4E=>EF< ?D< ?D>6545=<< 4<47=>EF<>< 7<4D46?<G5E><E < ?=56<4F<G5E><E E<EF5< < 
GEFD>=EF6. 
�>=EG?LF4F<< 12 
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3. '%����/ $������&�� �$�$�%%�����,���� ���'�/ 
 
3.1. &D55>64=<O > <4F5D<4?L=>-F5E=<G5E>><G >55E?5G5=<N 
 

$54?<74F<O ?D>D5EE<>=4?L=>7> <>4G?O ?D54?>?4745F =4?<G<5 
>45<=5F>6: 

1.  �E=>6 >D74=<74F<< < G?D46?5=<O. 
�5>DG4>64=<5 >45<=5F4: D45>G55 <5EF> ?D5?>4464F5?O, >><??5>F 

GG55=>= <555?< =4 25 ?>E44>G=OE <5EF, >?4EE=4O 4>E>4, E5>D=<>< 
=>D<4F<6=>-?D46>6>= 4>>G<5=F4F<<, >><??5>F GG55=>-=47?O4=OE 
?>E>5<=. 

&5E=<G5E><5 ED54EF64 >5GG5=<O: D45>G<5 EF4=F<<, ?D>5>F>D, M>D4= 
=4EF5==O=. 

�D>7D4<<=>5 >55E?5G5=<5: Win7Pro x64 SP1, Microsoft Office 2016, 
%�% �4D4=F, 1%: �D54?D<OF<5 8. 

2. �ED4=O FDG44 
�5>DG4>64=<5 >45<=5F4: D45>G55 <5EF> ?D5?>4464F5?O, >><??5>F 

GG55=>= <555?< =4 25 ?>E44>G=OE <5EF, >?4EE=4O 4>E>4, E5>D=<>< 
=>D<4F<6=>-?D46>6>= 4>>G<5=F4F<<, >><??5>F GG55=>-=47?O4=OE 
?>E>5<= ED54EF64 <=4<6<4G4?L=>= 74M<FO, >7=5FGL<F5?L, 
747>4=4?<74F>D, <7<5D<F5?L LG<4 < 6<5D4F<<, ?E<ED><5FD 
4E?<D4F<>==O=, ?N>E<5FD, 4=5<><5FD, <574><<5FD. 

&5E=<G5E><5 ED54EF64 >5GG5=<O: D45>G<5 EF4=F<<, ?D>5>F>D, M>D4= 
=4EF5==O=. 

�D>7D4<<=>5 >55E?5G5=<5: Win7Pro x64 SP1, Microsoft Office 2016, 
%�% �4D4=F, 1%: �D54?D<OF<5 8. 

 
$54?<74F<O ?D>7D4<<O <>4G?O ?D54?>?4745F ?D><76>4EF65==GN 

?D4>F<>G. 
 
3.2. �=D>D<4F<>==>5 >55E?5G5=<5 >5GG5=<O 
�5D5G5=L D5>><5=4G5<OE GG55=OE <744=<=, �=F5D=5F-D5EGDE>6, 
4>?>?=<F5?L=>= ?<F5D4FGDO 
 
4)  >E=>6=4O ?<F5D4FGD4: 
7 
?/? 

�EF>G=<> 

1. �EF4E>64, �. �. �5=546<5=F : GG55=<> 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �EF4E>64, �. �. �>E>6<F<= ; 
?>4 >5M5= D544>F<5= �. �. �EF4E>6>=, �. �. �>E>6<F<=4. 4 �>E>64 : 
�744F5?LEF6> .D4=F, 2023. 4 422 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-15997-4. 4 &5>EF : M?5>FD>==O= // 
�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 
https://urait.ru/bcode/523607 (44F4 >5D4M5=<O: 30.03.2023). 



24 
 

2. �>D>5L564, �. �.  ->>=><<>4 < >D74=<74F<O ?D><76>4EF64 : GG55=>5 
?>E>5<5 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / 
�. �. �>D>5L564, �. %. %5?56<G. 4 �>E>64 : �744F5?LEF6> .D4=F, 
2023. 4 191 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-
534-10672-5. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 
.D4=F [E4=F]. 4 URL: https://urait.ru/bcode/518004 (44F4 >5D4M5=<O: 
30.03.2023). 

3. �>D?5=>> �.�. '?D46?5=<5 ?5DE>=4?><: GG55=<> 4?O %�� / �.�. 
�>D?5=>>, �.�. �D>E<=, &.�. �>64564. - 2-5 <74., <E?D46. < 4>?. 3 
�>E>64 : .D4=F, 2019. - 249 E. -  (�D>D5EE<>=4?L=>5 >5D47>64=<5). 
ISBN 978-5-9916-9457-5.  3 &5>EF: =5?>ED54EF65==O=. 
 
�>D?5=>>, �. �. '?D46?5=<5 ?5DE>=4?>< : GG55=<> 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �>D?5=>>, �. �. �D>E<=, 
&. �. �>64564. 4 2-5 <74., <E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> 
.D4=F, 2023. 4 217 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 
ISBN 978-5-534-16492-3. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O 
??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/531168 (44F4 
>5D4M5=<O: 30.03.2023). 

4. �D<5>6 �. �.  '?D46?5=<5 EFDG>FGD=O< ?>4D4745?5=<5< >D74=<74F<< 
+ 5�D<?>65=<5 : &5EFO %�� : GG55=<> / �. �. �D<5>6. 3 �>E>64 :  
�=>$GE, 2019. 3 280 E. 3 ISBN 978-5-406-07062-8.  3 &5>EF : 
=5?>ED54EF65==O=. 

5. �4D=4GE,  �. �. �ED4=4 FDG44 : GG55=<> 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O  / �. �. �4D=4GE. 4 �>E>64 : 
�744F5?LEF6> .D4=F, 2019. 4 380 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-02527-9. 3 &5>EF : =5?>ED54EF65==O=. 
 
�4D=4GE, �. �.  �ED4=4 FDG44 : GG55=<> 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �4D=4GE. 4 2-5 <74., ?5D5D45. 
< 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 343 E. 4 
(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-15942-4. 4 
&5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/510311 (44F4 >5D4M5=<O: 30.03.2023). 

6. �>?>E>64, �. �.  �D74=<74F<O ?D><76>4EF65==OE D45>F 6 =5DF5747>6>< 
>><??5>E5: >??4F4 FDG44 : GG55=<> < ?D4>F<>G< 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �>?>E>64. 4 �>E>64 : 
�744F5?LEF6> .D4=F, 2023. 4 469 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-11284-9. 4 &5>EF : M?5>FD>==O= // 
�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 
https://urait.ru/bcode/517477 (44F4 >5D4M5=<O: 30.03.2023). 

7. �>DLG=>6 �.�. ->>=><<>4 >D74=<74F<< : GG55=<> < ?D4>F<>G< 4?O 
%�� / �.�.�>DLG=>6. -4-5 <74., ?5D5D45. < 4>?. -  �>E>64: .D4=F, 
2019. - 313 E. - (�D>D5EE<>=4?L=>5 >5D47>64=<5). ISBN 978-5-534-
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04630-4. 3 &5>EF : =5?>ED54EF65==O=. 
 
�>DLG=>6, �. �. ->>=><<>4 >D74=<74F<< : GG55=<> < ?D4>F<>G< 4?O 
ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �>DLG=>6. 4 6-5 
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